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warming up

Everyone knows that there are 10 fingers on the hands. How many fingers are on 10 hands?
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arithmetic

A dance club has got 21 people recruited. There are 4 boys among them. But the necessary number
of boys is at least one third of the total. What the minimum number of boys might be added to
the group?
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constructing

Write down four different digits in the cells to make the correct equalities
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5/3:7/4

constructing

Write down four different digits in the cells to make the correct equalities

WANLaY 0-9 Auanaaiu 4 73 asludesinusasyes iivelildaunisiignies
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constructing

Write down four different digits in the cells to make the correct equalities

WANFLa 0-9 Auanaaiu 4 71 asludesinusasyes ivelnldaunisiignies
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logic

The farm has a watering place, a pasture and a barn. In the morning there were 3 zebras and 2
ostriches in the barn, and 1 zebra and 3 ostriches at the watering place. At noon, six legs ran from
the barn to the pasture. And at 1 p.m., eight legs ran from the watering place to the barn. After
that, no one ran to nowhere. How many zebras and ostriches were in the barn after one p.m.?
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logic, direct search

The cardener has a Miracle Tree of seven branches. On each branch, there can grow either 6 apples,
or 5 pears, or 3 oranges. The gardener found that there are fruits of all kinds on the tree, with pears
growing the most, and apples the least.
How many fruits have grown on the Miracle Tree in total?
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isosceles triangles

Given an isosceles triangle ABC with the base AC. Point D is taken on BC such that
BD = DA = AC (see fig.) Find angle ABC .
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Two congruent triangles are inside the square, as shown in the figure. Find their angles.
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The teacher wrote a two-digit number on the blackboard and asked John if it is divisible by 2?7 by
3? by 47 ..by 9?7 John answered all eight questions correctly, and there were equally answers "yes"
and "no". Give an example of such a number the teacher could have written.
losic + prime ﬂgL%emﬁﬂmuﬁﬁaamé’ﬂawuﬂizmuﬁmﬁﬂﬁi’mu 12 or 18 or
10 numbers LAINILDDYIUI IIUIUUUMIAIY 2 aedavaaly 40 or 30 or
FIUIULUMNTAY 3, 4, ... 9 asdvsely suaisu 42 or 56
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